SaHiE ATHS A
2 ST A Xl

=5 4Y/HIE o[0ix|

ks

[>
um A

> U0

ru

H=
=]
_>||_I
o

I mn
oy

" z\
,-“
e mu 2 K
upErerg

[> 0H tn 3

J

T |
|k
plal
40 L

0% |m -

.

K0072.0075 %! K0072.0150
HEe Moz a o me

AMIAZ]:
K0100
K0101
K0102
K0103
K0106
K0107

© HEINRICH KIPP WERK GmbH & Co. KG

I.

=

www.kipp.com - info@kipp.com 1/3



B2

C1

r I
i ]
\Q i |
of 3
© LD
A2 || A
L1 Al
o
m
— - - > { = -
pom— Y, —
L
N
= K0072.0075
O () K0072.0450
D
A2 | A
=252
3 U RS SUT ATS YA SHY A SUT
FEHS EFTH I Igol &Y &g" &#98 2 FdEd FEET =]
2l T ZE FH F1 F2 F3 F4 ZotAE a8
N N N N N
K0072.0075 90° 75° 80 500 1100 250 700 K0100.16
K0072.0150 90° 80° 140 1200 2600 400 1000 K0100.20
K0072.0250 95° 80° 200 1500 3500 800 1950 K0100.28
K0072.0350 90° 75° 250 2500 5500 1150 3100 K0100.30
K0072.0450 90° 75° 250 3000 6500 1150 3100 K0100.34
FEHS A Al A2 A4 B B1 B2 B3 C C1 C2 D H L L1 M
K0072.0075 135 25 57 - 8 4 16 58 22 95 5 52 46 116 37 M5x35
K0072.0150 26 38 6 3 10 5 20 6,2 28 14 9 55 66 170 60 M6x50

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
HeHiT A 5] AXIHE XS] =HeliI] A=
2 Selix ~Ee ~XdE ZAMS ST A TS
g= oo
EXyT A Al AZ A B Bl B2 B3 C C1 <2 D H T M
K0072.0250 26 42 8 26 12 6 23 9 39 175 10 66 82 224 79 MBx60
K0072.0350 442 59 9 2 16 8 30 12 54 24 10 87 1095 274 108 M10x80
K0072.0450 412 67 13 - 20 10 38 132 66 27 13 87 130 305 129  M12x100

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



